Sumobot Basic Build Information
Spring 2016
All VCC pins should have a RED wire attached
All GND or Ground pins should have a BLACK wire attached.
The rear line sensor should have a GREEN wire attached to the out pin, and should go to pin 2 on the Arduino.
The front line sensor should have a BLUE wire connected to the out pin, and should go to pin 3 on the Arduino.
The echo pin on the ultrasonic sensor should be ORANGE and go to pin 4 on the Arduino.
The trigger pin on the ultrasonic sensor should be YELLOW and go to pin 5 on the Arduino.
The short M3 screws are used to attach the Arduino onto the black nylon standoffs.
The long M3 screws are used to attach the line sensors, use a nut, and finger tighten only or it will break your line sensors!
If the holes on the top plate of your chassis do not appear to line up, flip it over.  If your chassis has the gear bulb logo on it, it should face up.
All power to the bot comes from one source and is connected to the motor shield, pay attention to which one is positive and negative or you will burn up the board!
The motors should be wired up to screw terminals M3 and M4.  The middle screw terminal will not be used.  If a wheel is turning the wrong way switch the positive and negative wires that go to that motor.
Make sure the terminals on your motors are not touching each other, you might need to put a small piece of paper in-between the motor terminals.
[bookmark: _GoBack]When attaching the shields onto each other visually check to make sure that all pins are lined up correctly, some might need a slight nudging to go into the correct hole.  Pins will be partially exposed all the way around between the Arduino and the motor shield, this is to be expected.



